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> norm.generateBsample=function (mu, sigma,Nsample Nzsize)
+ {

+ normRandomSample=matrix (0, Hzample, Hsize)

+ for(i in 1l:HNsize)

+ {

+ Enumber=rnorm(Nsample,mu, 3igma)

+ normRandomSample[,i]=as.matrix (Enumber)

+ }

+ return (normBandomSample)

+ }

> Normsample=norm.generateRsample (25,3,50, 30)

> dim(Normsample)

[1] 50 30

> round (mean (Normsample) ,4) #ﬁ'Eifﬁﬁﬁ%TﬁiTt%%H?ﬂﬁﬁ;ﬂ:#if?ﬂj

[1] 24.9563

> round(var (as.vector (Hormsample) ) , 4) #ﬁ'Eifﬁﬁﬁﬁﬁfj?t%%ﬁ?@ﬁﬁ?ﬂzﬁﬁil,i‘
[1] S.0%98%
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> mu=25

> Nsample=S0

> normCI=matrix (0,Nsample, 4)

» colnames (normCI)=c ("mean™,"S5D", "LL"™, "UL™)

> normCI[,l]=apply (Normsample,l,mean) #5185 -VIF9EEHE{0

> normCI[,2]=sgrt (apply (Hormsample, l,var)) #5565 VTG fEEE

> normCI[,3]=normCI[,l]-gqnorm(0.975) *normCI[,2]/sqrt (Hsize)

> #ElEE -SHEFRAILL

> normCI[,4]=normCI[,l]+qnoxrm(0.975) *normCI[,2]/sqrt (Hsize)

> #5 BT -HERA

> xxl=seq{normCI[1,3],normCI[1,4],length=100} #S-Hai1sHiERAy{SHEIERE

> yyl=rep (1,100} #1551 100THYHIV]

> plot(=z=xl,yyl, type="1", . xlim=c (22,23) ,yvlim=c (0, Hsample+l) ,xlab="sample mean"™,
+ ylab="experiment™)

> title (paste ("95% CI of mu -- samplesize=" HNsize))

> for(i in 2:NWsample) #L) [ME:lZE S 28so AR EHEIER

+ {

+ Ex=seq(normCI[i, 3], normCI[i,4],length=100)
+ yy=rep(i,100) #1100 0HTEIY]

+ lines (xx, ¥Vy)

+ }

> Xth=rep (mu,Nsample) #EFES07T mu FJHEIV]
> Yth=1:Nsample #v=1,2,...,50
lines(Xth,Yth) #)j[ ['mu=25f7E 45
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> exp.generateRzample=function (lambda, Nzample, Nsize)

+ expRandomSample=matrix (0,Nzample, Na3ize)
+ for(i in 1l:HNsize)

+ BEnumber=rexp (Nzample, lambda)
+ expRandomSample[,i]=as.matrix (Rnumber)

+ return (expRandomSample)

> theta=5
> lambda=1l/theta
> Expsample=exp.generateBsample (lambda, 50, 30)

> Nzample=50
> M=ize=30
» expCI=matrix (0, Nsample, 3)

» colnames (explI)=c|("VAR", "LL", "OL"™)
> expCI[,1]=apply (Expsample,l,var) #5|E&E -YIAVHEE SRR _ )
> explI[,2]=(Nsize-1)*expCI[,1]/qchisg(0.95, (Nsize-1)) #5|EH5 -SHfERALL

> expCI[,3]=(Nsize-1)*expCI[,1]/gchisg(0.05, (Nsize-1)) #5[B& -EHfERAYuL
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xxl=seq(expCI[1,2],expCI[1,3], length=100) #3oEE14HEEAAY{
vyl=rep{l,100) #1535 1000 HTHIY]

plot (zxl,yvl, type="1" , x1lim=c (0, 130) ,vlim=c (0, Nzample+l) ,xlab="zample
variance",ylab="experiment™)

title (paste("90% CI of var —- samplesize="_ HN=zize))

for({i in 2:Nsample) #[| MRS EE29soiE RS HEIE R

xx=geq(expCI[i,2],explCI[i,3],length=100)
+i

rep(i,100) #iEFE100HYELY]
lines (xx,vv)

Xth=rep(theta"2,Nsample) #E=EFE 509 theta~2=100AYHIY]
Yth=1:Hsample #v=1,2,...,50
lines (Xth,¥th) #/[ ["theta~2=100fY

90% CI of var -- samplesize= 30
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